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The Question paper is in the form of Question Booklet with 80 questions and the duration of the test is 02 hoUrs.
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A separate OMR answer sheet with duplicate will be provided to mark the answer options.
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Each question carries 04 marks and one mark will be deducted for each wrong answer.
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12.

13.

14.

15

ST a7t Pt 3 AR weer-gRaH Avht g @Dy, s seax IRedET oX fAfive T

forg=n IfgvT]
Question booklet series code (AIB/C/D/E) printed on the right hand top corner should be written in the OMR
answer sheet in the place provided.

weat-q R & HTTehT AT YT AT AE ford |
Enter your Name and Roll Number correctly in the question booklet.

MW-Wﬁmﬁuﬁﬁﬁ:ﬁmmmtﬁamﬂaﬁaﬁmaﬁm
All entries in the OMR answer sheet should be with blue/black ball point pen only.

-mﬁmﬁaﬁﬁmﬁm%mwﬁﬁﬁaﬁ#mwmmﬁwml

The questions will be objective type with four options out of which only one will be unambiguously correct.

T, e et & R are et & A, Aelrel T & dier FE 9 § HATAA Ieal-
T ¥ et sifae H1 3R FTHE Sea FT I4F FLAT ¢

You have to select the right answer by marking the corresponding oval on the OMR answer sheet by blue/black ball
point pen.

TS V2T & T 31 3% refd ATAT AT |

Multiple answers for a question will be regarded as wrong answer.
R Tler TesEre ffa & 3ET SAEY, FAFA, RUTge B 97 e Soeied JIId, Ed-
k. Aile anfe A 1Ll

Computers, calculators, mobile phones and other electronic gadgets, text books, notes etc., will not be allowed
inside the written test hall. |

quof ‘ . Cal ¥ F 3 A 3T A
Erfes - h

On completion of the test, tear the OMR answer sheet along the perforation mark at the top and hand over the original
OMR answer sheet to the invigilator and retain the duplicate copy with you.

ma-gmmﬁaﬁwwmgl

The question booklet can be retained by the candidates.

T & T G2 & ZRe arsi o gier s i argAfer 7

Candidates are not permitted to leave the examination hall during the first hour of the examination.
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dHANATA-8/TECHNICIAN-B — THAR Td TH' (1302)/MR & AC (1302)

IfE FHIROT $r X W gy & ar 39 Fgd Bl

If the rate of heat transfer is constant, it is known as:

(2)
(b)
©
(d)

F’ﬂé &2AT FSHTRT/steady-state heat transfer
ITYUTE AT FSATARVT/unsteady-state heat transfer
HATA FSATARUT/uniform heat transfer

AT FSHAROT/non-uniform heat transfer

Frafaf@a wias gt & 3 fraer e Feaaa &2

Which of the following refrigerant has the lowest freezing point?

(a) R-11 ‘ (b) R-12
() R-22 (d) 3AEIAT/Ammonia
faferzor garT FvaAT 3aRoT % HROT g1T &

The heat transfer by radiation takes place by means of

(2)
(b)
©
(d)

ﬁa_‘g?{ ﬂﬂ'ﬂﬁ'ﬂ' TRAM/Electromagnetic waves
3f0as Fatfafa@Ai/molecular energy interchanges

3@3@'3 gdig/flow of electrons
d¥el 9dig/flow of fluid

e U, S 39 SR 93 welt fafolt @ srairvor avar €39 FEA B
A body which absorbs all the radiations falling on it is called

(@)
(b)
©
(d)

IR 5/opaque body

2adfis/white body

% S0TehT/black body ’
URGRI TS/ transparent bédy
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F yelideT o & el Tk weficeh ged g@RT SSAT &I IAoT femar

ST g
Heat is absorbed by a refrigerant, during a refrigeration cycle in a

(a) TufeT/condenser

(b) dTf®=/evaporator

(c) TdfEF/compressor

(d) 3I9UY HYTc/throttle valve

ws arsg Gdiee weiae s F fRestan araH= H glar gl
In a vapour compression refrigeration cycle, the lowest temperature occurs in

(a) THfed/condenser

(b) @I A/evaporator

(c) FUIfsq/compressor

(d) YR FUE/throttle valve

forsares aqoties (F3id) Hr AR =T &2
The co-efficient of performance (COP) is defined as:

(2) WO IR foRaT 1T /SO @ Ianf¥a FeAT
Workdone on the system / heat absorbed from the system

(b)) TOTEN ¥ IR0 FeATSUIRN W R I w
Heat absorbed from the system / work done on the system

(©) 3NaNa Fear-fRar s /Yol ) har =& FI
Heat absorbed-work done / work done on the system

(d) quTe I fRT 9T H ISR FSALRAT =

Work done on the system / heat absorbed-work done

o gNST & emaT 1 TR ¥ SEeT Adew & f udfamdr ISAT s
e gl

The capacity of a refrigerator is 1 TR. This means that the heat removing capacity
(or refrigeration effect) of the refrigerator is:

(a) 1000 keal/hr (b) 2000 kcal/hr
(c) 3000 kcal/hr (d) 4000 kcal/hr
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10.

11.

12.

soFciaey gfaT & grar &

In Electrolux refrigerator

(@) 3T & gI25IeT &I arsUsi/hydrogen evaporates in ammonia
(b) BISZSA A IAAAT HT aTA/ammonia evaporates in hydrogen
(c) BTSN H IAAAT T 37FMYOT/ammonia is absorbed in hydrogen
(d) ST #FATAIT T 3GAYOT/ammonia is absorbed in water

HIfde d9ATE 98 aI9HT=T &, fods 39X giar gl

Critical temperature is the temperature above which

(@ U I & gaeT G gMMT/a gas will immediately liquefy
(b) TH I T gaT FEN gleM/a gas will never liquefy

(c) STel T aTsUsT gl9M/water will evaporate

(d) 3'?2_533-?[ 7 Eﬁfé’ Tel/none of the above

Mds godeh & 7 BR3iTaT ST Y187 1 ST aTell YoTTell & fIT U8 oige &t
ueref gler TfRT|

The material of pipe lines for a system using Freon as a refrigerant should be

(a) Wd/Brass (b) Fiw'IEiT/Copper
(c) SEUT/Steel (@ vefAATAE/Aluminium
feRYaT 3mgar v gfvems gl

Absolute humidity is defined as

(a) aTY TTUT STA-aTST FAA0T & Uah Ffere I 7 A 7 areafaeh GodaTe
Actual mass of air in a unit volume of air and water vapour mixture

(b) T F TF JAT JFAT H JA-aT™T FT qEATIHR GeIAT
Actual mass of water vapour in a unit volume of air

(c) Y TUT STA-arcq fAYOT & Toh AT HATA H FTA-arsq H1 JEdfdsd GeaAeT
Actual mass of water vapour in a unit volume of air and water vapour mixture

(d) STI-aTT F Teh AT HRATA H a1 FH AEATdd FeqH A

Actual mass of air in a unit volume of water vapour

- ' 1302/16



1o,

14.

15.

16.

3T AT & foIT 3R AT 3T el AT § gl

For unsaturated air, the dew point temperature is wet bulb temperature

(a) h#H/Less than

(b) HAJeA/Equalto

(c) 37T8/More than

(d) s?ﬂff 2] El-ﬁé' #gi/none of these

T 240 V, 60 W T T FIHR TN B
A 240 V, 60 W lamp has a working resistance of

(a) 1400Q (b) 600

() 960Q (dy. 3255

HIF dosd H 3HH T €IS ST % FAGEE gl TIRTI
In arc welding, the arc length should be approximately equal to ‘
(a) SIS s & AH & ?_‘Ff/t\arice the diameter of electrode rod

® VsHIH & 1.5 3;I?-\r/ 1.5 times the rod diameter

(c) S & =urE/diameter of the rod

(d) S F UE &F 3TW/half the diameter of the rod

grsq 3rFNNoT weiiae womel H ¥ w7 & ORua SiFss & wer 6

ST gl

Lithium bromide in vapour absorption refrigeration system is used as
(a) RN EcT/refrigerant

(b) Q’Qﬁm[coolmg substance

(c) 3IfaReFa gfiaeged/auxiliary refrigerant

(d) 3TaeYH/absorbent
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18.

19

20

AFSE BT fARYET AT 100% § & STol-arsuer #r &3 H geh

If the relative humidity of atmosphere is 100%, then the rate of evaporation of water will be

(@) 3Td/high (b) F=/low
(c) WA /normal (d) YA/zero
AT A6 & A 9 FEd &l

The basic law of heat conduction is called

(a) YT HT Mt ATH/Newton’s law of cooling
(b) BIRA AT/ Fourier’s law

() Th@EM® fAIH/Kirchhoff’s law

(d) TG FIH/Stefan’s law

arg &1 AT 6T 5 R ag & e aaAe RIMGAT FT FOF IR gher &2

The temperature of air at which condensation of moisture begins when the air is cooled is known as
(a) UASh ded dAMATA/dry bulb temperature

(b) RBAE agATT/dew point temperature

(c) 31T5; Sod dT9HT/wet bulb temperature

(d) Fl?j_ﬁ? T9&HTe/saturation temperature

Mt TR @ ehelar arelr arg HJ grefo
The air coming out of the cooling tower will be
(2) 33T AT 37+T¢/cool and dehumidified
(b) IRH TAT 3H=TTg/warm and dehumidified
(c) 33T T 37¢/cool and humidified

(d) IRA YT 3T/warm and humidified
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22,

23,

24,

o Rz, Y & Wy FENT aEe # g 8, a9 3w F seEged
st grEedT & g §7 -8 s e e @ e

The statement that when any two bodies are in thermal equilibrium with third, they are also equal in
thermal equilibrium with each other is '

(a) SSHETTIT &7 Yol [agd/first law of thermodynamics
(b) FSHTITTTRT T M &g /zeroth law of thermodynamics
(c) FSATITTCIehT T qaxr f&a#/second law of thermodynamics
(@ B'Q'{ﬁaﬂ'?l' # ¥ FIS Adi/mone of the above

e fRsor wd &1 7T Bl

Frigorific mixture is the mixture of

(a) &% TUT FAH/Ice and Salt

(b) IAAAT qT BRIT/Ammonia and Freon
(c) TraTA-12 T AHAH/Freon-12 and Salt
(d) PRATI-22 AT sTHA/Freon-22 and Salt

e Tefia TRy 120 kW =Y < W w1 i e s 2 5« T35 wifes wiftr =1 =hua 30 kW
T B | TR 3 Frsares 1 IOTeR (coefficient of performance)

A condenser of refrigeration system rejects heat at the rate of 120 kW, while the compressor
consumes the power of 30 kW. The coefficient of performance of the system will be

(@) 1/4 (b) 1/3 © 3 @ 4

ﬂﬁ'mmﬁmﬂaﬁwwmmm%éﬁmﬁ

il : Fgd &l

The temperature of air recorded by a thermometer, when it is not affected by the moisture present in
the air is called

(@) & S dTaAT /Wet bulb temperature

(b) YD dFed dgATA/Dry bulb temperature

(c) 3T ATgATA/Dew point temperature

@ a@ﬂm ATqHTs/Atmospheric temperature
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25,

26.

27.

28.

mmﬁmaqﬁmmwmmﬁammmmwm
WWW%WWWW%W?W@
FEd &l |

The ratio of actual mass of water vapour in a given volume of moist air to the mass of water vapour
in the same volume of saturated air at the same temperature and pressure, is called

(a) 3 INEaT/Relative humidity
(b) AT A/ Humidity ratio

(c) Pa_fEH HAMET/Degree of saturation

(d) TAR98T IEam/Absolute humidity

I FIaRor ot | srelirer geasy gl TR
Pick up the wrong statement. A refrigerant should have

(a) ™I &7 3= 9Id FSAT/High latent heat of vaporization
(b) 3TT FIYATF/High boilinglpoint

(© =3 & fAF AR ssAyLow specific heat of liquid

(d) 3TTIR HfdF ATIAE/ Higher critical temperature

AT F qG G T H IGAT BT ST B

In aircraft, air refrigeration cycle is used because of

(a) 3ITIR Asuea W/Higher coefficient of performance

(b) 3== Ffi?—lT R A7 aIA=/ Low temperature at high altitudes

(c) 3TT FSHTIOT &/High heat transfer rate

(&) W NTF g # 9fy Fe o By O $R/ Low weight of system per kg of

refrigerant

UhAIT, fAeaRoT aleq & Brt @ gawelas zew @) # gRafda
T B

The evaporator changes the low pressure liquid refrigerant from the expansion valve into

(@ &% g9 gaug ang g+ geT/Low pressure liquid and vapour refrigerant

(b) 7 e arsg 9 gea/Low pressure vapour refrigerant

(©) 3=9 g gaueias GcU/High pressure liquid refrigerant

d saT7 T ﬁ? sTel/None of these
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29.qa&a@ﬂuwu@iﬁﬁ,mw‘3méﬂmmaaﬁa?m%ﬁawm

& &1 &

Environmental protection agencies advise against the use of chlorofluorocarbon refrigerants since

(a) m—m%mﬁ%ﬁ%ﬁmm—aﬁwmm%l
These react with water vapour and cause acid rain ,

(b) ﬁa@mﬁmgaﬁaqﬁqﬁmgﬁr%magmmmﬂmm%i
These react with oxygen and cause its depletion

(c) wﬁwmmw%mmmmwmmﬁ
These react with plants and cause greenhouse effect

(d mmammmmm

These react with ozone layer

30. Waﬁﬁmmﬁmmwmﬁm gl
The COP of a heat pump working on a reversed Carnot cycle is
(@ Tu(T2Ty) (b) T/(T2-T1)
€y (TETy @ (T»T)/T

31. T HAh AR a9, ¥ argHE & TR T

A standard ice point temperature corresponds to the temperature of

(@ —4CW ¥%/Ice at 4°C

(b) 0°C UX STel/Water at 0°C

(c) OrF UF Y& FH/Solid and dry ice

(@ mawr 3 arefieT a% T Stel @ AT Mixture of ice and water under equilibrium

conditions

59, mmﬁcﬁgﬂaﬁﬁmmaw,agaaﬂﬁmﬁﬁuﬁﬁm%’lw

In vapour compression cycle, condition of refrigerant is very wet vapour

(@) wafaT ¥ gl =1 ¥ ae/after passing through the condenser

(b) TEEROT FHUE T A S & dIc/after passing thrc;ugh the expansion valve
(©) faeazer e § wa F & aIc/after entering the expansion valve

@) TFawer sue A U HIT F Tgel/before entering the compressor

A ) 10 ; 1302/16



33,

34.

23

36.

37.

T Aol THr aR9y A g Wevcd # 12V dleear AR qg wfakies 7 5V ateear §
Ve aeear el

In a series ac circuit the voltage across the pure inductance is 12 V and the voltage across a pure

resistance is 5 V. The supply voltage is

(@ 13V by 17V
© 7V (d 24V

T 10 Q YRR & U 15 Q UfeRIes ¥ FAGY Faleter 3R 8 0T 7 12 Q
gfaRiers & Aot Farere fmar Sar &1 9Rey #1 gAged gfore gl

A 10 Q resistor is connected in parallel with a 15 Q resistor and the combination in series with
a 12 Qresistor. The equivalent resistance of the circuit is

(a) 37Q b 18Q
) 270 @ 40

T& (1/3) Q ufaRitres &1 (1/4)99%11% ¥ AR TS Fel R FAJT Tfaer
gl

The equivalent resistance when a resistor of (1/3) Q is connected in parallel with a (1/4) Q

resistance is

@@ 170 ®) 7Q
€ 1120 ‘ ‘ @ 340

A g & goran & wiferer fre av RBea(@id) Bz i scasisar

The emissivity of a polished silver body is as compared to black body.
(@) HH/Same ' (b) fA=/Low

(c) E’_E:?I' «1/Very Low (d) 3=d/High

ag & Hdeg At & gluer faflise angar gl

During sensible cooling of air, specific humidity

(@ &R Wwcll/remains constant

(b) S&dl/increases
(c) ucdl/decreases

(d) ZFIH T A Adl/none of these
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38.

39.

40.

41.

IATAAT T GAET FT 92idaT Yol &7 &oT

gl

Leakage in refrigeration system using Ammonia is detected by
(a) @TeSs <rxi/Halide torch

(b) TeHI B31/Sulphur sticks

(c) A Ud Fel/Soap and water

(d) I FHVAL of these

TEHuNaF g dESE ST T F T fFar sar g

A refrigerant compressor is used to

(a) MNP geT & g« Fg= & foIT/ Raise the pressure of the refrigerant
(b) 9MTH geT & dIIH §61d o felU/Raise the temperature of the refrigerant

GaRT ygdr fRar Srar

(c) wfaw geg Fr gRiiae Jumell & gRanferdesl & W/ Circulate the refrigerant

through the refrigeration system

(d) 3'C|'{i,7=i'_cf T3fl/All of the above

i 1 Wt fover & & &7

Rating of a domestic refrigerator is of the order of

(@ 0.1ton (b) 5Ston
(¢) '10ton (d) 40ton
arsq Fdise Wk W T WUROTE: gl

The value of COP in a vapour compression cycle is usually

(@) @A '{ﬁﬁ ¥ &Hd/always less than unity

(b) &AM MR & 31f&AF/always more than unity
c© 1= HAJT/equal to 1

(d) STHY FI$ FAbi/none of these

12
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42.

43.

44.

45.

46.

AT a9 Ud g W uE giidE F arsue dr qed FSAr gl
At lower temperature and pressure, latent heat of vapourisation of a refrigerant

(a) ©TAl g/decreases

(b) sadr &/increases

(c) WA g/remains same

(d) 3T gcH W AR ¥/Depends on other factors

%mﬁi@amﬁmﬂaﬁmﬁqaﬂaﬁmﬂ?mﬁaﬂﬂﬁm—mmmﬁm

ST B |
Aqua Ammonia is used as refrigerant in the following type of refrigeration system

(a) HrdT/direct

(b) TRI&T/indirect

(c) TdISA/compression
(d) 37ERAYUT/absorption

FA vfiae $IR Td A araA QAT & v, Bh3fie-12 &1 I # NH; $1 gedA=T
YATg AT HT HA gl

Mass flow ratio of NH; in comparison to Freon-12 for same refrigeration load and same temperature
limits is of the order of

@ 1:1 (b) 19 © 9:1 @ 13

100 Q RS & TF ATF I dars G N SN § 3R IR aTFwer Jmer fmar
STAT &1 ST 73T Hiaer — gl

The length of a certain conductor of resistance 100 Q is doubled and its cross-sectional area is
halved. Its new resistance is:

@@ 1000 (b) 2000 © 500 @) 400 Q

100 W gafdes oge seal, s 13 A W & @y e v 240 V e @ vamer

frar ST FHar &, fr JWeaH & gl

The largest number of 100 W electric light bulbs which can be operated from a 240 V supply fitted
with a 13 A fuse is

@ 2 ® 31 1 ey @ 18
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47. IR=SA &GS 2 mm” AU YORIESAT 2% 10°Om A IFT TF 2 km S & Shael 7

48.

49.

50.

51.

gieRIeT fohaer &2

The resistance of a 2 km length of cable of cross-sectional area 2 mm? and resistivity of 2 x 10°Qm
is

@) 0.020Q () 200 © 02Q d 200Q

Wﬂﬁwaﬁmwﬂvﬁfsﬁﬁaﬁﬁﬁmﬁ—wmwaﬁmaﬁm
gl

In a series-wound generator running at constant speed, as the load current increases, the terminal

voltage -

(2) EGdlg |/increases
(b) ®TAIG I/decreases
(c) HATT Igcdlg|/stays the same

d a7 I ﬁé’ 6T I/none of these

Artarardy fawRorar & B

The lowest thermal diffusivity is of

(@) @gl/Iron (b) ®s/Lead
(©) UAAFIH/Aluminium (d) I&3/Rubber

F AT A & forw R 1 g2 Far arar g
Barometer is used for measuring

(a) argngsﬂw @Td/Atmospheric pressure

(b) RBHAGA agHAEA/Dew point temperature

(c) darsusT r 9[°d 3=HAT/Latent heat of vaporization

(d) 3TIT&F 3Tedi/Relative humidity

U TTclegiod A # g8 3¢ ATTATT SamsTeT —— & FAJT Bl
The dry out temperature in an air conditioned room is approximately equal to

(&) 75°F (b) 85°C ) 75°C (d) 85°F

14 ' 1302/16



82.

53.

54.

55.

56.

3k

s T v gEvs @ gl

A Kilogram is than a pound.
(@) &ool/lighter (b) #HRI/heavier
(c) &aT/longer (d Sgd BIcT/very small

UH 74, 1 QRS 3T 1co/gm §1 IGHT Ueed rderm &2

Density of a liquid whose specific volume is 1 cc/gm is

(a) 1 gm/cc (b) 100 gm/cc

() 1Kglee | (d 1Kg/m’

29.4 psi & FAJT e 82

29.4 psi is not equal to

() 202.6kPa # () 2.06 Kgflem’?

(c) 2bar (d) 2.02Pa

T AT i P HdesT =T gl gl ST gl

A thermometer is said to sense

(a) HagAMe AT/sensible heat
(b) I*d dT9/latent heat .
(c) ETIA AT/heat of fusion
(@ Taferse am/specific heat

100°C, & FAGeT A ¢

100°C is not equal to

() 373K () 672R (c) 212F @) 132F

Rr3iieT Tfceh ge & &RUT @1 WX ETaISs aid &l Saral &l & £5)
gRafda g smeem

In case of leakage of Freon refrigerant, the color of the flame of halide torch, will change to

(a) &I%T g/Bright green (b) YT/ Yellow

(c) ©lTei/Red (d) #ARM/Orange
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58.

59

60.

61.

TehaTeRifay #, afE weryr aeedr-ard giar § ar CaRT FNET F AT
ST |

In a working refrigerator if the supply voltage drops, the compressor will be stopped by
(a) ATIEATdY/ Thermostat

(b) Rel/Relay

(c) AR T&TFH/Overload protector

(d) WYl HT Sdel=/Burning of fuse

ARTEH 60 arc & Sod H TH fgaT F fow R 3 #F WA § ol IR e &
3YHET Y TS Folr : gl

A 60 watts bulb, if switched on for a day, the energy consumed in power units

(a) 1.44 (b 0.6 ) 60 (d) 1440

AT Azl # ArAfaf@ad & g wiias geg &1 3iffedd e aera Qe 82
Which of the following refrigerant has the maximum ozone depletion potential in the stratosphere?
(@) IATAA/Ammonia

(b) CO;
(c) HeWT 318 HTFHgs/Sulphur dioxide

(d) FIR/Fluorine

weffo @ T quR & HEROT FT aRoTE gl

Formation of frost on evaporator in refrigerator

(@) 31eY FSHT IaI0T & HRUT a9 ASc/results in loss of heat due to poor heat transfer
(b) FSAT HATOT T d&d! /increases heat transfer rate ‘

(¢ 37T 3BT SART CTell ST Hehell &/can be avoidéd by proper design

(d) AU g/is immaterial
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62.

63.

64.

65.

66.

ITATERoT HATAE, T & amEe @ 30 g W T d H@a98 @R aiaexor # dig-

TS T

When the temperature of the surrounding is higher than the temperature of the body, then the heat
loss by convection from the body to the surrounding will be

@ YelTcHh/Positive
(b) FRUTcHE/Negative
(c) R=T/Zero

(d) ST ¥ FI$ Acl/None of these

o FaeeRor P & ¥

The capillary tube, as an expansion device, is used in

(a) E‘lﬂg?ﬁ'ﬁ?momestic refrigerators

(b) STerelidereh/Water coolers

(c) ©haT Eﬂ?ﬂflﬁ\%‘:l’/Room air conditioners

(d) I THVAL of these

it =T 12

1 Ton of refrigeration is equivalent to

(a) 1000 fR.17./1000 kg

(b 35kW
(¢) ¥% %1 /1 ton of ice

(d 210 J/min

IARAT FT FIUATH

The boiling point of ammonia is

(@) 100°C (b) 50°C

aehid FF ©eled HT AT

% GG &

The unit of magnetic flex density is the

(a) Weber
(c) Ampere per meter

{¢c) 33.3°%C (d 0°C
el
(b) Weber per meter
(d) Tesla
17

3 SRl T F1 ST R ST R
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67. oI T aTe % W1 Th TR{a 8 |

A refrigerant with highest critical pressure

(@ R-11 (b R-12 ) R-22 (d) 3ASA/Ammonia

68. Teh WRAV] H goECA H AT g W WA gl &l
When an atom losses the electron, the atom
(a) E=aeil/becomes positively charged
(b) IS YHIG § & Ficl/experiences no effect at all
(c) Fomdef/becomes negatively charged
(@) faafedrdisintegrates

69. T WIURUT el Fol HIEX & yad aef ey gl

The starting torque of a simple squirrel-cage motor is

(a) 3Td/high

(b) =F/low

(c) E[\Uﬁa? RT dG=1 a—T FRUT Tcdl/decreases as rotor current rises
(d) H‘Pﬁﬂ? ¢IRT §ga1 & SHRVUT dgdl/increases as rotor current rises

70. uﬁqné—qaigﬁa@ﬁaﬁ?mq%gawm%mquﬂaﬁm
g g ar oifa gl

If the flux per pole of a shunt-wound DC generator is increased, and all other variables are kept the

same, the speed

(a) ©cdl/decreases
(b) SGdl/increases
(c) TATA glcil/stays the same

(d SAH | Eﬁlé' Ael/none of these

A 18 1302/16



71,

2.

73.

74.

U Ieaiadid Wy # BHE ogd & v Y W Ftdel &d gl
In a psychometric chart at the right end of the dew point lines, the vertical scale is

(@) b Fod d9AE SS=1/Dry bulb temperature lines

(b) 3% dod AT T8+1/Wet bulb temperature lines
(c) faferse 3mar ems=i/Specific humidity lines
(d) 3MIfSF AT TSe/Relative humidity lines

FHATAAR, AT FAST gl JoITell & HE&T R AT g2

Main parts of a vapour compressor refrigerating system in sequence are

(a) ?i":ﬁf?‘:ﬁf, a?i'fal'vi', an@tI'al', IO YIc/Compressor, condenser, evaporator, throttle valve

(b) TREF, IR FHure, gafoF, aIIT /Compressor, throttle valve, condenser, evaporator
(c) TN, aftuw, gafory, IR FUE/Compressor, evaporator, condenser, throttle valve

(d) TR, gaford, IWIY HUTE, YT /Compressor, condenser, throttle valve, evaporator

& fav nfea aa & JaEr & §9 AfafRse g aRenia f ar &

Specific heat is defined as the amount of heat required

(a T gt F araH Fir ?I‘j?lt' fSafr s@=i/to raise unit degree of temperature of a
substance 2

(b) STIHTT I II‘;%IE' =D CAdRT Th ety & aﬁ'c: ZSTATA SGlei/to raise unit mass of
substance through unit degree of temperature

() argAET FHr 10 f=3air CGART T qere & aﬁf AT d¢Tei/to raise unit mass of
substance through 10 degrees of temperature

(d) d9A #1100 330 ganrT v 9Ty F a‘jﬁf GSUATT §glel/to raise unit mass of
substance through 100 degrees of temperature

arg 1 FaeAde GlideT & A & Hell gara & FAT &
The coil efficiency in case of sensible cooling of air is equal to
(a) BF+l (b) BF-1 (c) 1-BF (d 1/BF

Tgl BF = 39-ART 9[0Th/where BF = Bypass Factor

19 ' 1302/16



75. 18 T2 ey YT & FAIST &7

18 degree is equal to how many radians?

(@) /8 (b) /2 (c) m/10 d) m/4

76. T G 1 RHT Hed %2750 ¥| WEEN T GG Hed T 2500 §l W AT AT
wfrerd fohder &2

The selling price of an item is Rs. 2750. Cost price of the item was Rs. 2500. Then profit or loss %
is

(a) 10% aT%¢/10% loss (b)  10% ©T#/10% profit
(c) 250% WT$1/250% profit (d) 250% FSE/250% loss

77. W BUSimplify: 12

B | =

@ -2 ® 3 © 3 @

78. I 2043=5 &, A1 x HT e FAT &7
The value of x if 2x+3=5
(@ 0 b -l © 1 @ 4

79, (+2)(-1)=03)(-3)+5 F y BT AT 7T Hex FhaTr &2
The value of y given 3+2)(y=1)=0+3)(-3)+5 is
(@ 1 ® -1 ) =2 (o2

80. U FINER T FT SRS 324 m’ &1 5EF URT IR s F AT A gl aF F=A
g7

Area of a square shaped land is 324 m?. To run around this land, how much distance to
be covered?

(a) 18m (b) 324m ) 72m (d 9m
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